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Trigonometry Notes
Name

Similar Triangles | - \{ QS

% Are these triangles sumilar?

How can you tell? df@ A. N l ’]Cr e %5(

Sotve for x _\_ éF [ eg_i‘_

Put vour unknown on the

The get it alone using } A\J B )- I
s Ww\ LEY]

Finally, solve for the unknown T —_— F
Let’s try another one! Solve for x >( R é 6
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Infinite Pre-Algebrs
Show

FEEAR — © 11— [INEHHMHE

Each pair of figures 1s similar. Find the missing side.
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Each pair of figures 1s similar. Find the missing side.
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Pythagorean Theorpm 6}/ b C
do | ﬂ;\'F f_ﬂ"]k triangles. Q) C{G{ yd h yf G-!fm

Use (- '[ >
e VY OLL B
+ =
o ° G/
Your hypotenuse 15 alwavs CRCW—J.S. . 6 m %
Remember - Triangle angles always add up to \ Eg E i degrees.

Solve for c Solve for e
A
E
10.2 cm
] D
C 43 cm B
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Solve for c Solve for e C._ / '
F
A 16 9m
10.2 cm /]
]

G{QTJDQ__C% S
L{_Eh—rld.ai \ .\35\
g Y9+ (o4 oM 3 Jre:QES-.

,9253{T 2 =pUT 5]
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Eemember the biggest O hﬁ \-e corresponds with the biggest S / .cl e cand
the smallest drg’ ‘e corresponds with the smallest T[ d 6
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Do the following lengths form a right triangle?

11) a=6.5 b=72 c=84
ot =
6 53T 7.0 43

B LS + 5.8 /9 5L




